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5(i) 3(x—2+/5) = x+/5 = 3x— x/5 =65 = X(.......) =65 M1 1.1b
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Notes
(i)
M1: Multiplies out the brackets, collects terms in x on one side and attempts to take out a
factor of x

M1:  Attempts to rationalise the denominator

- 95 +15

Al: or simplified equivalent

(i)

M1: Attempts to rearrange the equation to the form e~ = A or alternatively takes Ins of both
sides

M1: Takes Ins of both sides and proceeds to find an expression for x, or alternatively applies
the laws of logs correctly and proceeds to find an expression for x
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